Advanced Mathematical Decision Making
Final Exam Review Unit 1
Fall Semester

@ /' Given that an average of 18 people can fit inside a square measuring 5 feet by 5 feet,
estimate the size of a crowd that is 10 feet deep on both sides of the street standing along
a 1-mile section of a parade route. {1 mile=5280t) . - o
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,2{ The size of a television is the length of the diagonal of its sereen in inches. The aspect | F cop i {:Zi» '
Latio of the screens of older televisions is 4:3, while the aspect ratio of newer wide-screefr™ =~
televisions is 16:9. Pind the width and height of an older 25-inch television whose screen

8,016 (2)

has an aspect ratio of 4:3. G e 7
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Use the following information for questions #6—7 .

Consider two grading systems for detexrmining your final class average. Each system
is a weighted average of measures that include test grades, final exam grade, homework,
and class participation.

Grading System I Grading System II
Test average — 40% Test average — 60
Final Exam Grade —25% | Pinal Exam Grade —15%
Homework —25% - Homework — 15%
Class Participation — 10% | Class Participation — 10%

@ " ¥f your values are the following, which grading system do you prefer and why?
, , » Test average =84
» Final exam grade = 68
.= Homework = 90 .
» Class participation = 95 ' .-
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O /4/ If you score oints higher on the final exam, how does your final grade average

change unde system? ‘
Opine 16 #3;  bith 4y - @

) 4. Howmany 3 lttes arangements of tho word CHEMISTRY are possibie?
103~ 60y brdder abicrs

6. How many different 3 pcrson comuuittees can be formed from a group of 15 people?

15 (37 4ss Oy 1o

" Usethe following information to answer questiops 7-8:
Actual mileage: k * odometer reading (mileage)

Actual speed: k * speedometer reading (miles per hour)

‘Where k = Circnmference of bigger tire
Circumference of factory-installed tire
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7. ¥f the odometer reading is 40,000 miles onydur car and you have tires with a cirenmference of
105 inches, you have actually fraveled - miles. (factory installed tires

clrcumfarencc is 95 mches. )
4,.% = L{U 090) ;LTLL‘[ %f’}

8. If the speedometer reading is ‘?5 mph on your car and you have tires with a circumference of 125

‘\‘

inches, you are actuzally traveling_ mph. (factory justalled tires circumference in 90
mchﬁs) } 25 N . -
k= [4(75) = {ios mph)
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{\:\i}/ S dscxdmg hcrw many fickets they can selt for each show. The venue has three levels, two
general admission that only have standing room, and one Ievel with 150 seats. The first
level of standing room is a square with one side measuring 75°. The second level, also
standing room, is 2 rectangle measuring 100° by 50° ft. The third level has 150 seats. The
venue thinks each person will occupy 2.25 square feet. How many tickets should they

sell? b PeDP 7 10
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NSome information on a tire reads P230/60R16, What is the dlametcrmmc /
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\&Rscall slugging percentage is found by using the formuta below

SLG=;Q‘$+(2DD);§EY)+(4-HR)

Find the S1.G for a player mth 52 doubles, 31 singles, 2 triples, 61 hcmeruns anci 335 at bats.

Plug in f‘vrmm C/
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@ . Determine the check digit for the UPC number 61230032451d. Recall the check digit 1s
chosen so that the calculation below has 0 for the final digit when 4, through a,, are the

first 11 digits of the UPC and d is the check digit.
3a, +a, +3a, +a,+3a, +a +3a, +a,+ 34, + 0, +3a, +d

) +1 4 2()F 31300+ 013(3)F 2 f%’(if)f%!;} f;f
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_ 'Q.UsetheinformaﬁonbelowtoﬁndyomnmeWeckgradcmAMDM 5&?
C{% « test grades 50% of nine weeks grade
¢ daily grades 25% of nine weeks grade
= group presentation grades 25% of nine weeks grade

Your test scores were {83, 57, 823, Your dail 05,79, B5}. Your gnoup
presentation grades were {86, 87,65.01}.
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@ L{ Which size would you see on the box W Ietevist e screen measures 32
inches wide by =l , { !6 [ Q_ 222
§A 1327 2K
y ' 22

neasures 7.5 mnches high by 13.5 inches
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tires, how fast 1s your SUV actually moving? The cixccumference of the factary-installed
tires should be 77 1 mches, but your tires are r4~mc}xes*afeund\,\w\

= 8k =1 (58) %

O\’k Find the w1dth and height of an older 50-inch television whose screen has an aspect ratio
of 16:9. Find the area of the screen. Make a drawing and justify your answer.
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. If your speedometer reading is 53 mph, but your tires are larger than factory-installed




Answer each of the following Fermi Questions to the best of your ability. Please list all of your
assumptions, in addition to all steps used to complete the problem. ,

(j: 1% If Bill Gates® net worth was doled out to him by the minute, how mﬁuch is his time worth
per minute? (Bill Gates’ current net worth is $54 billion and he waks born on October 28,

1955) D\ )f\

our lifetime?

O . How many text mcssagcs @l}éﬁ send %
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/CS }@,\Fﬂr tire size P225/45R 17, give the followmg
) Width(oum): V15 N

Aspect Ratio (%): ?ﬁ *3:;»%
Height (in.): Wy

Diameter (in): ’7/5" VIAEAN .
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